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G  #/k I B K 4 S E-3 P FOER (RT.)
1 8/ 5 ® W HI BF =) 93 =1 25.96 (0.73)
2 10/5 @EIl £F EA3 BXS 91 =3 25.97 (0.72)
3 9/ 6 JLiBE AdhFELvh ALRKE 91 =3 26.18 ( 0.69)
4 9/5 B XK HER =5 IL—TIILERRE 91 =3 26.38 ( 0.63)
5 8/ 7 K Br WA BEE ABREREXS 91 =3 26.51 (0.77)
6 9/ 4 8 Il F BKE JEEXS 91 =3 26.53 (0.79)
7 10/3 W0 B KEbHHMY FIE 93 =1 26.57 ( 0.65)
8 8/ 6 F FE BHE WE HILNE 92 52 26.59 (0.75)
9 915 F RIIl B —BiEE— 91 =3 26.64 (0.77)
10 8/ 9 /% E #HiK EX HEHEHEE 92 =2 26.65 ( 0.78)
10 10/ 8 & £ 7E8E 2 HHEHF 93 =1 26.65 (0.82)
12 10/4 X B EfHSE 3T 8% KBt 92 =2 26.66 ( 0.80)
13 8/ 8 F FE HHEPUYF FEBKRAT 93 = 26.67 ( 0.70)
14 10/7 % £ WE *XxE HHEHE 92 =3 26.70 (0.71)
15 10/ 2 F ZFE FFH EF Bk H 93 =1 26.79 ( 0.69)
16 8/3 K Br tHty FH: mXPRE 91 =3 26.82 ( 0.67)
16 9/8 XK B £H# ®WmE 3T 8% KBt 93 = 26.82 (0.77)
18 7/7T®H ®HFE UMY mll&ZF2ERE 92 =2 26.98 ( 0.85)
18 9/10 & %0 dh)Il EE TELF 92 =2 26.98 (0.74)
20 51T 8 R ES & HKEE 91 =3 27.00 ( 0.75)
20 8/ 4 R W FK &% RRILIE 91 =3 27.00 ( 0.64)
22 4/ 5 F Il ERFTF BEFE— 92 =2 27.01 ( 0.63)
22 17/ 3 % 4 EHNEE E: 1] 91 =3 27.01 (0.72)
24 10/ 6 B =R BKiEET INEF 93 =1 27.02 (0.61)
25 9/3 B W KE W% BREEZXE 93 =1 27.04 (0.72)
26 6/7 % W FHRIL & BES 91 =3 27.11 ( 0.75)
27 /74 % K ABR ALK FEEEKM 93 =2 27.12 ( 0.80)
27 10/1 &% [ €A A BHEX 92 =2 27.12 ( 0.64)
29 5/8 K Br 1A% FiR ARFRRS 93 = 27.14 ( 0.68)
30 5/ 9 JbtiEE =45 ME DER=E 92 =2 27.20 ( 0.66)
31 /18 W E#E FX HERAFE 93 =3 27.22 ( 0.67)
32 776 B W EHF F BEnLEREE 92 =2 27.31 ( 0.62)
33 10/9 b O $BK EF ELET 93 = 27.32 ( 0.76)
34 2/3 1B E BEVNEBF BEXR 92 =2 27.35 ( 0.75)
34 48 B W RIE B e = 93 =1 27.35 ( 0.88)
36 55 = E AEH FE %5k 93 =2 27.36 (0.74)
36 8/10 f2 B WA #= Py NS 92 =2 27.36 ( 0.76)
38 9/9 & [ T EHF BHEZE 91 =3 27.37 (0.72)
39 5/ 6 & %1 EH #HF BITXKELE 91 =3 27.38 (0.74)
39 510 |5 B ;#hHE B#% LEEE 93 52 27.38 (0.80)
41 /4 XK B AF%F EA = 92 =2 27.39 (0.81)
41 3/10 ¥ £ rhig w [FaE 2 91 =3 27.39 ( 0.70)
43 3/ 8 & 1 [RE mEAE 2 91 =3 27.44 (0.71)
43 4/ 2 #ME)l B & BXS 91 =3 27.44 (0.78)
45 7710 1l A #HAE M= Fh A 93 =1 27.45 (0.70)
46 6/5 BERE KIEBKF BREEX 91 =3 27.46 ( 0.80)
46 10/10 B = HE *t= SHE 94 =1 27.46 ( 0.69)
48 /76 K MR /MR OBEEE 3T 8% K It 92 =2 27.47 ( 0.80)
49 79 % ®M KR FES 21 93 =1 27.48 (0.68)
50 2/5 R # i E£B FE 5 91 =3 27.49 ( 0.69)
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50 4/ 9 WE|| ARFEX HEEE 91 =3 27.49 (0.70)
52 /54 & gl EE EEmE 91 =3 27.53 ( 0.80)
52 2/6 K R XE B# ABRERKXS 91 =3 27.53 ( 0.81)
54 /6 = & AF BE EHFE 93 = 27.55 ( 0.69)
54 39 R R K EHR TR E RS 92 =2 27.55 ( 0.66)
b6 2/ 8 %% [ TN BF BX=E 93 =1 27.56 ( 0.66)
56 46 B £ &£F EB Hm 93 =2 27.56 (0.77)
58 1/8 % [ HEHw *£=H I B4 ) 94 = 27.58 (0.72)
58 471 & M BE BT =t 91 =3 27.58 (0.77
60 6/ 6 #=)I BE +tE HX#&R 92 =2 27.59 (0.71)
61 4/ 3 BE XN EREXE IL—TIILERE 93 =1 27.61 (0.81)
62 2/ 4 dtiEE BEMEELNLE LR KE 93 = 27.62 (0.77)
63 31T HR W BH = i} 91 =3 27.63 (0.77)
63 410 B R FH HL\H  WIF 91 =3 27.63 (0.73)
65 7/ 8 BIRE WL =5 93 =1 27.64 (0.79
66 34 K FE £B HiELF 91 =3 27.65 ( 0.80)
66 5/ 4 F JIl fE@ EB =Y NSE S 91 =3 27.65 (0.75)
66 8/1 8 )l BEREER &R 93 =1 27.65 ( 0.76)
69 5/ 2 10 B FZBEUMY e 94 =1 27.68 (0.75)
70 6/ 9 ME)I| HBA BE BXS 92 =2 27.69 ( 0.79)
n /718 Wamgetdl hEmE 91 =3 27.73 (0.77
72 3/ 6 dtimE =8 T R=E 92 =2 27.74 (0.8
72 5/ 3 B R tHEF EZF B EF 92 =3 27.74 ( 0.67)
72 6/1 R R WMR3435 HEEF 92 =2 27.74 (0.72)
72 8/2 8 & BB E=E BERKE 91 =3 27.74 ( 0.79)
76 6/8 & E £H =T=x il 93 =1 27.75 (0.72)
77 6/ 4 ¥ B &Nl HE EEXF 91 =3 27.76 ( 0.76)
78 5 1 W R Fik ¥ INEF 91 =3 27.77 ( 0.69)
79 6/3 8 #H LA KK —24&¥ 93 = 27.78 ( 0.81)
80 6/2 R W hif HAE JERE 93 =1 27.81 ( 0.68)
81 41 & [ 4L RE AEWTIL 91 =3 27.84 ( 0.68)
82 2/2 & [ EDKRRSE =9 92 =2 27.85 ( 0.80)
82 91 ¥ B EHEBEF REIXF 92 52 27.85 (0.68)
84 2/ 7 %k B N ES AR 92 =2 27.87 ( 0.68)
84 33 1/ E HIl BE HHAEZE 92 =2 27.87 ( 0.80)
84 /2 & % HEHEZERKL FERAPER 91 =3 27.87 (0.78)
87 18 EF L Bx By B 94 = 27.88 ( 0.69)
88 4/ 4 & [E it EHR BEEZEHE 91 =3 27.89 ( 0.79)
89 32 B IR EH OALE ¥rH 91 =3 27.90 ( 0.76)
90 9/2 = E JIl EE EHFE 92 =3 27.97 (0.65)
91 1/ 3 Rl Bx EX INER 94 =1 28.00 (0.84)
92 35 K B BA EXR TiAE 93 =1 28.06 (0.77)
93 6/10 B R RZA)I## INEF 91 =3 28.44 (0.77)
/2 F % jhE #HiE BiRKRE 92 =2 3EiE
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